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% E 6:6 Percentage getallen (ontbrekend getal)

Naam: Datum: Score:

x20% =5 x20% = 8

x 20% =2 x 80% = 24.8
x 40% = 17.6 x 60% = 55.8
x 30% = 4.2 x 60% = 52.2
x 60% = 50.4 x20% = 4.6
x 80% =24 x 60% =6

x 70% = 35.7 x 10% = 0.2
x40% = 17.2 x 50% = 3.5
x 40% = 22.8 x 70% = 27.3
x 90% = 54 x10% =9
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/)
% E 6% Percentage getallen (ontbrekend getal)

Naam: Datum: Score:
25x20% =35 40 x 20% = 8
10 x20% = 2 31 x 80% = 24.8
44 x40% = 17.6 93 x 60% = 55.8
14 x30% = 4.2 87 x 60% = 52.2
84 x 60% = 50.4 23 x20% = 4.6
30 x 80% = 24 10 x 60% = 6
51 x70% = 35.7 2x10%=10.2
43 x40% = 17.2 7x50% = 3.5
57 x40% = 22.8 39 x70% = 27.3
60 x 90% = 54 90 x 10% =9
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